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(e}
-1
(glem’) | (kg/m’) (m® )
-1 Wx 0.0% | 0.00kg
-10 14 140 PVA 10% | Wx 1.0% | 6.36kg
-1-1 ' (PA18Y) Wx 3.0% | 23.17kg
-1-2 Wx 6.0% | 45.66kg
-2 Wx 0.0% | 0.00kg
-5 16 140 PVA 10% | Wx 1.0% | 6.36kg
-1-3 ' (PA18Y) Wx 3.0% | 19.17kg
-1-4 Wx 6.0% | 38.61kg
-2-1 14 Wx 3.0% | 2251kg
-2-2 14 Wx 6.0% | 45.03kg
-18 16 140 EVA Wx 1.0% | 7.50kg
_2-3 16 Wx 3.0% | 19.03kg
-1-1 Wx 0.5% 3.17kg
-1-2 Wx 1.0% | 6.34kg
-1-3 16 140 Wx 3.0% | 19.03kg
_1-4 Wx 5.0% | 38.06kg
-1-5 Wx 8.0% | 57-10kg
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(mm) 2.0
(g/lem®) 2.500 268
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